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liccmu number nrobleme!

- The numhber monster has eaten parts

of these numhber sentences can if.ou
help me to figure out what the

MmisALNG numhers are?

There are a few waiys you con do

( this. So lets work through one together.
L+7?=7

To figure this out you can use A numhber
line and count on from the first numhber
auntil youw reach the answer- how maniy
jumps you mode solves the prohlem.
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01 2 3 ¢35 6 7 8910

Or you con do something called the inverse.

So for this prohlem it would he /—4 =

So toke the numhbher youw already have awaiy

=

from the answer and it solves the prohlem

for youw. This works because as we alreadiy

know hoth sides of the = sign hawve to he

the same amount /z,ar,u.,ai.

A

o Can you find any other woys of solving
< these probhlems?
ﬁ +? =10 ?7+ 6 =49 2 +7? =
+ 7?7 =38 ?7+ 8 =10 3+ 7=
? + 7?7 =] ?+ 9 = |4 2 +7? =
+7? = 1|5 ? 4+ 7 = | L + 7?7 =
,S
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